Chemistry 11 Name:

Atomic Theory III Date:
Block:

1. EC Relationship to Periodic Table

2. Electron Configuration Exceptions
3. Electron Configuration of Ions

| Electron Configuration Relationship to Periodic Table
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Element Full Electron Configuration Core Notation ~ i
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Element Full Electron Configuration Core Notation
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Use the periodic table to identify the neutral atoms having the following electron configurations:

Electron Configuration Element Name
[Ne] 32 Magnesiom
[Ar] 4s2 3d5 MW\O)N\EX/Q
[Kr] 552 4d1 5p3 Antimon Y

[Xe] 652 4f7 EUNDMP’\

[K)5s%d °5p

Consider the following six ions: N3- 02- F- Na+ Mg2+ Al3+

a) How many electrons are present in each ion?

|0 elect®™ns

b) Write a single electron conflguratlon representing all of the ions.

(5225 2pb

c) Which neutral atom posses t
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EIS electron configuration?

Complete the following table for some elements in two families of the periodic table:

Alkali metals | Core Notation | # Outer Electrons | Halogens | Core Notation # Outer Electrons
Lithium [He) Qs l Flurine | [He)2 §°2 > 7
Sodium [Ne)3s' ( chlorine | [Ne ) §y? 3p' S =7
potassum | [ US l Bromne | [Ar)Ys? éd 1oy pS 7
Rubidium {r)5s ( lodine LKr J)565? qo{l°5'{, s

a) Consider the number of outer electrons present and suggest a reason why elements belonging to
the same chemical family demonstrate similar chemical behavior.

have P Same F 0 oute, electrons

b) What change occurs in the atoms as we move down each chemlcal family?
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| Electron Configuration Exceptions |
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| Electron Configuration of Ions

Negative Ions:
e Add negative electrons to the IOS t unfilled subshell

Example: O 2-

[He] 2522 r”+Qe"——s [Hejgslife

Positive Ions:

Two Rules:
1. Electrons in the O\A{-CH’WS* S\\ﬂ-“ (largest n-value) are re-M ()VQOl first

2. [Ifthere are electrons in the p and s-orbitals, remove the D -0 rb (‘{.ﬂ [ electrons first

Important Note:
e Even though d-orbitals fill after the s-orbital of the next energy level, the s-orbital electrons of the
higher energy level get removed first

@p-ocotals @ S-gbitals @) d-orbital

Write the core notation for the atom, then remove electrons in the order:
Pp—o>s— A

Example:

Tin2* « [ )55 Ud s — [Kr)5s4d"
Tt* + [kr) 5s™Ude 5p% — (1) Ud"™
Vnvadon™ - [AI45724 = [ 343



Use the periodic table to complete the following table:

 Atomorlon |

Zn
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Write the electron configuration of the following ions, using core notation:
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